
Root Slicer & Chop N Slicer Parts List: Page 1

Parts List

Root Slicer & Chop-N-Slicer
Model and Application

Ref
No.

Part
No. Description

No.
per
row

Wt. 

2000
Rigid

2000
Folding

6000
Rigid

6000
Folding

List
Price

1 11039 Root Slicer Row Unit Complete 1 X X X X $1,955.00

2 11122 Blade 24" w/o Angles 2 32 X X X X $180.00

3 11003 Blade Angle Only 24 X X X X $5.00

90119 Bolt 3/8x3/4" 48 X X X X $2.17

90313 Nut Flange 3/8" 48 X X X X $0.10

4 11002 Blade 24" with Angles - Left 2 X X X X $244.00

5 11001 Blade 24" with Angles - Right 2 X X X X $244.00

6 11004 Axle Weldment - Right 1 X X X X $284.00

7 11005 Axle Weldment - Left 1 X X X X $284.00

8 11123 Hub Assy Greaseable complete 2 X X X X $195.00

1H 11102 Dust Cap 2 2 X X X X $47.10

2H 11101 Gasket - Dust Cap 4 X X X X $5.58

3H 90146 Nut - Castle 1" NC 2 X X X X $3.02

4H 90104 Cotter Pin 3/16 x 1 ½ 2 X X X X $0.22

5H 90220 Washer - Flat 1" 2 X X X X $0.88

6H 10613 Bearing  - Outer 2 X X X X $11.07

7H 10614 Bearing - Outer Cup 2 X X X X $8.57

8H 10611 Hub Only 2 X X X X $110.00

9H 10587 Bearing Inner Cup 2 X X X X $12.82

10H 10584 Bearing Inner 2 X X X X $10.05

11H 10616 Seal 2 X X X X $7.00

9 11012 Vertical Height Bar 2 X X X X $65.11

10 90151 Bolt 5/8 x NC 3 4 X X X X $1.86

Effective Date: 01/01/24 ***Prices subject to change without notice.



Root Slicer & Chop N Slicer Parts List: Page 2

Ref
No.

Part
No. Description

No.
per
row

Wt. 

2000
Rigid

2000
Folding

6000
Rigid

6000
Folding

List
Price

11 90123 Washer 5/8" Lock 4 X X X X $0.22

12 90137 Nut 5/8" NC 4 X X X X $0.46

13 11011 THD. Rod 1" NC (use 90186) 1 X X X X $22.80

14 90148 Nut 1" NC 4 X X X X $2.07

15 90220 Washer 1" Flat 2 X X X X $0.88

16 11019 4x4 Clamp Complete 2 X X X X $161.00

17 11020 Clamp 4x4 2 X X X X $114.00

18 11024. Clamp Cap 4x4 2 X X X X $46.50

20012 Parallel Linkage - Complete 1 X X X X $572.00

22 11047 Bolt 3/4 x 14 Cut to length 12 3/8 4 X X X X $19.00

23 90158 Washer 3/4" Lock 8 X X X X $0.27

24 90160 Nut 3/4" 8 X X X X $0.47

25 11035 4" Tool Bar Weldment 1 X X X X $176.00

11142 4" Tool Bar Weldment - Adaptable $247.00

26 11026 Parallel Linkage Weldment 2 X X X X $146.00

11018 Parallel Linkage Weldment (Folding) X X $146.00

27 90332 Bushing - Bronze 1 1/2" 8 X X X X $610.00

30 90139 U-Bolt 3/4 x 7 1/8 x 8 5/8 2 X X X X $13.00

31 11025 Angle Bracket w/o stop holes 1 12 X X X X $56.00

11118 Angle Bracket with stop holes 1 11 X X X X $56.00

1 11104 Stop Plate 2 X X $78.50

1 10969 7 Blade Row Unit Complete 1 X X $1,305.00

2 90136 Bolt 1/2" NC x 1 1/2" 22 X X $1.04

3 90134 Washer 1/2" Lock 22 X X $0.24

4 90138 Nut ½” NC 22 X X $0.20

5 10603 Blade 20 3/4" 7 X X $25.25

6 10305 Rotor 7 Blade 1 X X $444.00

Effective Date: 01/01/24 ***Prices subject to change without notice.



Root Slicer & Chop N Slicer Parts List: Page 3

Ref
No.

Part
No. Description

No.
per
row

Wt. 

2000
Rigid

2000
Folding

6000
Rigid

6000
Folding

List
Price

7 10620 Bearing  - 1 1/2F 2 X X $65.00

8 10640 Standard Tadpole 1 X X $319.00

9 90140 U-Bolt 3/4" NC x 7 - 5/16" x 9" 2 X X $13.00

10 90158 Washer 3/4" Lock 4 X X $0.27

11 90160 Nut 3/4" NC 4 X X $0.47

90110 Bolt 1" NC x 4 3/8 1 X X $6.50

90109 Top Link Bushing 1 X X $7.50

90128 Washer 1" Lock 2 X X $0.84

90111 Nut 1" NC Deformed 1 X X $2.88

90115 Lynch Pin 7/16 x 1 ½ 2 X X $0.84

90113 Hitch Pin Cat. 2 & 3 2 X X $50.00

90114 Hitch Pin Cat 3 2 X X $46.60

90337 Bolt ½ - ONF x 1 ½ 12 X X $0.45

90312 Nut 1 1/4 NF Nylock 2 X X $4.95

90311 Bushing 1 1/4 x 1 7/8 10 GAZ 2 X X $1.05

90310 Sealed Bearing 4 X X $43.00

11140 Hub - Sealed Bearing 2 X X $98.00

11130 Spacer - Sealed Bearing 2 X X $15.60

11123 Hub Complete with Sealed  Bearing 2 X X $195.00

11004 Axle Weldment - Right 2 X X $285.00

11005 Axle Weldment - Left 2 X X $285.00

Effective Date: 01/01/24 ***Prices subject to change without notice.


